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QUESTION 1

The following figure shows a network running MPLS and LDP session information displayed on SWA. Which of the
following statements is false? (Multiple Choice)
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A.In2.2.2.2:0, 2.2.2.2 indicates the LSR ID of the neighbor.

B. In 2.2.2.2:0, 0 indicates the global label space.

C. The value Operational indicates that the LDP process is running and the LDP session has not been set up.
D. The value Passive indicates that SWA is the responder.

E. The value Passive indicates that SWB is the responder.

Correct Answer: A

QUESTION 2

A flow mirroring port can transmit the specified service flows on the mirroring port to the monitoring device for analysis
and monitoring.

A. TRUE

B. FALSE
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Correct Answer: A

QUESTION 3

Complex traffic classification means that packets are classified based on the quintuple including the source and
destination addresses, source and destination port numbers, and protocol type. It is usually deployed on the network
core.

A. TRUE

B. FALSE

Correct Answer: B

QUESTION 4

What are differences between the DiffServ and IntServ models? (Multiple Choice)
A. The DiffServ model provides different services destined for different destinations.
B. The DiffServ model provides different services destined for different sources,

C. The DiffServ model does not need to maintain the status of each flow.

D. The DiffServ model applies to large-scale backbone networks.

Correct Answer: CD

QUESTION 5

Which following module is not the functional module of NFV framework?
A.VIM

B. VNF

C. VNFM

D. 0SS

Correct Answer: C
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